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Question Number : 1 Question Id : 813561161 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

If a line makes angles 90°, 135° and 45° with the positive directions of x, v, z axes
respectively. then its direction cosines are

w8 POV 1, V,z ¥V GHOIVS 90°, 135° B0k 45° S Sr0ot, &5 WOV

ag), OS5 S
Options:
0, =, —
1.« V2 V2
3 &
- (0, 5 ﬁ)
=5 =1
OI T
3 5% ( 1'nu'rz "\rz
4. %
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Question Number : 2 Question Id : 813561162 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

The equation of normal at (1,1) to the circle x* + y* —x -3y —4=01s

4 y?—x =3y —4=0 358 (1,1) 3¢ 6o ©duowds HI6HIW

Options:

: J:\:-!-J’—Z:O

> 8 2x—y—1=0

4- @ X — :'_IF g 2 —

b

Question Number : 3 Question Id : 813561163 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

fa+b+c=0and|a]=3 |E| =5, [¢'| = 7. then the angle between @ and b is

T +b +7 =000 [a]=3, [b] =5, [] =7 eowd, 7. b © o6 St

Options:
1, % 30°
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5 % 120°

3, % 90°

4w

Question Number : 4 Question Id : 813561164 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical
= o x*+34x-7 e : .
If x 1s complex, the expression — T takes all values which lie i the mterval (a, b).
& b
find the values of a and b
> e
x“+34x-71

¥ 28 083 o] LAY diog), Dewssen ¥y (a,b) Wossans’

xe+2x-7
&oCOR. 900N, a,h © DD

Options:
a=-1 b=1

2. %
3J“:5' h =9
4¥a=9_, b =5

Question Number : 5 Question Id : 813561165 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical
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Locus of the centroid of a triangle whose vertices are (1,0). (a cost,asint).
(bsint,—bcost) is 9x% 4+ 9y% — 6x = k. Then the value of k =

(1,0). (acost,asint). (bsint,—bcost) %g“um“ (10 S22 SoWerR)

AP EAMCET 2020

DotdDGAL 9x? + 9y? — 6x = k oD, k =

Options:

- a’ 4 b?

Zvyaz-f-bz—l

3 u @ +5"+1

4.3“’50

Question Number : 6 Question Id : 813561166 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

The length of the diameter of the circle x? + y? — 6x — 8y

? +y% —6x — 8y = 0 38 TRIW TEY

Options:
1.% S

2.v 10

3. % 15

4. % 20
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Question Number : 7 Question Id : 813561167 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

J’x“ +x* 41
xt—x+1

Options:

1 3 1 2
—3 x" -+ —2 X" +x+cC
1%

Question Number : 8 Question Id : 813561168 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

If P and Q are two non-zero square matrices of the same order such that the product

PQ = 0. then

PQ = 0 eabjer P, Q w0 28 S6043S BB Hr (8 whaudy Srdsen g,

O

Options:

1. %
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Exactly one of them must be singular
D\ Dol 208) & VI Te SIS

Both P & Q must be singular

, % P,Q &0 Bocr O TTOEY AT

Both P & Q must be non-singular

, » P,Q o0 8ot FTO ArGSeD

None of the options are correct

4 o DO DBADI e T

Question Number : 9 Question Id : 813561169 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
The function f: R — R defined by f(x) = \/% is
x

fiR=R f(x) =

LI0VR), [ WO

X
V1+x2

Options:
Surjective but not injective

| PRI 5O ©BEIN T

Bijective
5 % Bea DA

Injective but not surjective

L o ©DGEBW 570 DofR&L S
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Neither injective nor surjective
4% 9 J(SA STE BTN VoD ST

Question Number : 10 Question Id : 813561170 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let M and N be two matrices over R of order 2. Then MN = NM if

M, N 0 &7 Ro{0sd Qaresaneor (0 2 X 2 &rdsw MN = NM oT (el

Options:
One of M and N 1s a diagonal matrix
M 200050 N 0e5° 2088 D86 Ards

1. % £a

Both M and N are diagonal matrices

M, N &0 8ot D86 Ardsen
2. =

Both M and N are invertible matrices

3 % M, N en 8ot 2e5° A0 SOHAD Ardsen

None of these options are true in general

4 x TTTORANT & 2770 DD VB S°Y

Question Number : 11 Question Id : 813561171 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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= f cos(13x) — cos(14x) |

1 + 2 cos(9x)

J'cos(l?)x') — cos(14x) ,

1+ 2 cos(9x)

Options:

1w &

X

AP EAMCET 2020

sin(4x) sin(5x)

a

b

sin(4x) sin(5x)

a

+ ¢ ,thena

b:

+ ¢ oYY, a” =

Question Number : 12 Question Id : 813561172 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

d C g | 41‘3 _.
dx - 27 =

Options:
3

VO9—x?2
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Question Number : 13 Question Id : 813561173 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

2 . 4 7 i)
A man, 2 m tall, walks at the rate of 1 . m/s towards a street light which 1s 55 m above the

: R . : 5 1 =
ground. The rate at which the length of his shadow 1s changing when he 1s 3 ; maway from the

base of the light 15

2 oo g (0 28 (3 5 m e 0 B oS DY 1= m/s B0 ST . 60

Rogrer s 3% m GroAg’ ¢ I8 &)y B s ) BeNR EERB0E/ ATEB06?

Options:

1 ¢ —1m/s

5 % 2 m/s

3 & —2 m/s

1 m/s

Question Number : 14 Question Id : 813561174 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If x4 5 =015 the directrix and (—3, 0) the vertex of a parabola. then equation of

this parabola 15

X +5 = 0 ohesBarrdr, (—3,0) G20MIR (0 HTHOAH DAVEERAN

Options:

o yZ =8(x + 3)
2. % y* =8(x—3)
o x* =8(y +3)
4 % X2 =8(y—3)

AP EAMCET 2020

Question Number : 15 Question Id : 813561175 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If ¢;,65,03,04,cc are arbitrary constants. then the order of the differential equation whose

XTCs

: ! B 2w K ] - :
general solution s y = (¢; + ¢,) sin(x +¢;) + ¢ 7,1

& 85,55, 0 DD i{gd oL y = (c; +¢y) sin(x + ¢3) + qeﬂcﬁ FTOe FOdT

(0 ©93%0D PEENLY) B

Options:

1.¢ 3
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Not defined
Ddsaobmdﬁd.)
4. %

Question Number : 16 Question Id : 813561176 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of tangent to the curve y = 5x2 — 3x + 7 at the point (=1, 4) is

y =5x% =31 +7 3508 (~1,4) Dotdoid) $6 0 68 RD0EGEI

Options:
1 % 13x—y—9=0

5 % 13x+y—9=0

3_\5?,131'-!-}*-?-9:0

4% 13x+2y+5=0

Question Number : 17 Question Id : 813561177 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

On an n X n chessboard, the total number of rectangles which are not squares 1s 350. Then
the number of white squares on the chessboard 1s

X 1 tC300rfeY) 80 068 AIBRHND 5D BGIBRHVD 350 &) oS, Bord
33 BAGRK00 Doy

Options:
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1 % 32

> % 950

3. v 18

4% 72

Question Number : 18 Question Id : 813561178 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Suppose A, B be two events such that P(4) = 0.9 and P(B) = 08and P(AN B) =2 0.7.
Then we can conclude that such a case 1s

A, B 03 8ot o0den P(A) =09, P(B) = 0.8 8030 P(ANB) = 0.7 @0335@
&oGd, T8 HBow) DD :)g“&orﬁdvaﬁn?

Options:
Always true

1 & DV A

Always false

5 % D‘Q‘):)d.) 20060

Not true in some examples

. 8 §Q) &Orironws Jud 57

True only in some cases

4 §Q) RGOS Hrda D25
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Question Number : 19 Question Id : 813561179 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The mmage of the pont P(3, 8) with respect to the line x + 3y = 7. assuming the line to
be a plane murror. 1s equal to

X+ 3y = 7 20900 18 D380 odorr DY, Bo@e” P(3,8) pddowe

Options:
: u G4

2. % (=1, 4)
3. ® (lr_4')

Lo (-1,

Question Number : 20 Question Id : 813561180 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Equation x> —5x° 4+ 5x% — 1 =0 has equal roots

x® —5x3 + 5x2 — 1 = 0 SIS RBTD Bureren &%) oW

Options:
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(¥

Question Number : 21 Question Id : 813561181 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

- - )y A _
Let z;. z, be two complex numbers such that z; — iz, = 0 and arg(z,z,) = Y then arg( z,) =

. i .
2, 308032 2, Boc 086 ooieD. 7 — i7; = 0 20Ba0 arg(z,2,) = facma, arg(z) =

Options:
T

1% 4

Question Number : 22 Question Id : 813561182 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If the axes are rotated through an angle 45°, then the co-ordinates of the point ( 42, —61'6)
in the new system are

—

RO 45° §0d gomodadrr D6\ §9 exe g (4v2,-6v2) darosw

Options:

, « (10, 10)

Question Number : 23 Question Id : 813561183 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

—_—

If @,b,c andT are vectors such that @ is not perpendicularto b . 7 X b =¢ X b
and 7.a = 0thenr =

3.
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EY

S | S’

o)
|
&4

=

+
o[l
a|| 8|

|
Fal

Question Number : 24 Question Id : 813561184 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Differentiation of (x? — 5x +8) X (x® + 7x + 9) can be done by

(x* = 5x +8) x (x* + 7x 4 9) wdgvRa0 & §od TS’ D APGAD Mod Hedotsiiny?

Options:
Only by using product rule

, VRS BT S
"]_ e @

Only by obtaining a single polynomial. expanding it

. » 28 VDA Tobd, &7 DB LT HI B0

Only by using logarithmic differentiation
x RODCITD VISVTL T(T° SFP

All of the options are correct

, ) BT LDV VB
4. o

Question Number : 25 Question Id : 813561185 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
AP EAMCET 2020 .
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The common tangent to the parabola y? = 32x and x* = 256y will be

% = 32x 308030 x? = 256y DBV &) ¢ 63D

Options:
, @ 2x+4y+64=0

2 B 1+2\F_32:0
3 x 2x+4y+32=0

4 % X +2y+64=0

Question Number : 26 Question Id : 813561186 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Solve I, + nl,_4if I, = [(Zn x)" dx

I, = [(ln x)" dx eond, I, +nl,_, =

Options:
. X (lnx)" ' + k

5 @ % (Inx)" + k

(Inx)"

3.8 X

+k

4. %
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(Inx)"

+ k

Question Number : 27 Question Id : 813561187 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

How many functions f:Z — Z are there such that f(x + v) = f(x) + f(v) forall x,y € Z?

FiZ-T 8000 f(x+y)=fxX)+ (), Y,y E T oDy Jroc Ddohane
'rbna,JiS

Options:

1.*“1

Infinitely many

4. 29 0Ha0D

Question Number : 28 Question Id : 813561188 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

(3+2i)(4—71)(12 + 131)
Hx+iy =7 : . — _then x? 4 y? =
(13 —12i) (2 —3i) (11 + 3i0) :

(34+21)(4—71) (12 +131)
x+iy= = o — 0N, X%+ vy =
; (13 —121) (2 —31) (11 + 31)
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Options:

Question Number : 29 Question Id : 813561189 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The function f(x) = sech(x) on R has the range

f(x) = sech(x). x € R 5003080 5‘53_:3

Options:
% (0,0)

SUICES
. i)

4% (1,%2)

Question Number : 30 Question Id : 813561190 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

A kind of bacteria grows by 2 in t seconds. Time taken for the rate of growth of the bacteria
to become 1200 per second 13

28 GE0% LPS008 ¢ REWVY’ ¥ DDAV & rgBosrey 3B S dEE 1200

Eﬂé&:‘bé 208 V00D DEBVR?

Options:
10 seconds
1 = 10 2S00

20 seconds
5>« 20 JsDoew

40 seconds
3 ® 40 JsOw

400 seconds
4 % 400 dsHoew

Question Number : 31 Question Id : 813561191 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
1

2' P
Sin™1 (- ~ N aw=
1+ x?

0

Options:

_— T —log2

g T +log2
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4
— — log 2
3.¢ 2
T
?+10g2
4, %

Question Number : 32 Question Id : 813561192 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

1

jBlﬂg(l + x)
ax =
1+ x?

0
Options:

e, T log 2

— lopg 2
g
3.8 ¥

~ log 2
3. % 4 -

4 % log 2

Question Number : 33 Question Id : 813561193 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

tan9° —tan 27° — tan 63° + tan 81° =
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Question Number : 34 Question Id : 813561194 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

f1x1'4+2x2'4+3X3!4++4+nxXn!=11! -1, then the maximum value of "C, 1s

IX11+2x2143x3 ++nxnl=11-1 eond, "C, d0e) ﬁ&fgﬁ)wb

Options:
1 % 462

2, v 252

Question Number : 35 Question Id : 813561195 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The mean deviation about the mean of the set of first ‘n” natural numbers. when ‘n’ 1s an
even number, 1s equal to

‘n’ ‘naﬁ‘raoa)ﬁsa, A0GL ‘n’ AR Ro[R E[00 c:‘:gg"s ;j)c:)?s;ﬁo QDA =

Options:

,I%ﬂ

Question Number : 36 Question Id : 813561196 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

qx
If lim (l + i) = ¢? where p,q € N thenp + q =
X—00 X
gx
p,q € N 0% lim (1+%) =e? ®ond p+q =

X—00
Options:

1.v ©

3 % 81
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Question Number : 37 Question Id : 813561197 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A die 1s rolled three times. The probability of getting their sum equal to a prime number of
the form 4n + 1 1s

28 8 3 I BB, T 206 SN 8L AP 41 + 1 ErHANS W) 28
@@éﬁu% OIgVCALY "eooe;'a]gej
Options:

1

11
36

Question Number : 38 Question Id : 813561198 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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n

If n 1s a positive integer then Z r.C, =

re=

—

n
n & ‘le’g"os"’:)é Z r.(.=
r=1

Options:

n-—1
1.% <

n+1
n2

2n+1

Question Number : 39 Question Id : 813561199 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In a triangle ABC (shown n the figure below). state whether the following are true or false

408 WD ABC §Z0250% & 089 J2dr 528 dudel.

Options:

AP EAMCET 2020
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(1)- True. (11)- True. (111)- True. (iv)- False

ks

> (1)- Q23a500. (11)- Q22a200. (111)- 2. (1v)- wmgm:

(1)- True. (11)- False. (111)- True. (1v)- False

(1)- Q2. (11)- vmg;ﬁn. (111)- Q230. (1v)- amgm
2. %

(1)- False. (11)- False, (111)- True, (1v)- True

3.

~ (1)- es&)g;ﬁn (11)- eﬂmcgan. (111)- Q22a000. (1V)- 22300

(1)- False, (11)- True. (111)- False. (1v)- False

(1)~ 2922633000, (11)- Q22200 (111)- 922G, (1V)- 922300
4. % @ @ @

Question Number : 40 Question Id : 813561200 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

20
L] L] L] ] =l 1 El
If the m™ term s the middle term in expansion of (:rz - —) , find co-efficient of T,,45.

20
(12 —) " rgome soc s mad i Q. T, ., HE06'D s

-l

2x
Options:

20 -13
T C o2

i

AP EAMCET 2020
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Question Number : 41 Question Id : 813561201 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The function v = Sin™!(cos x) is not differentiable at

y = Sin"*(cos x) & $08 D Docd 3¢ WISLIAD0 STE?

Options:
m only
1w T TG

2m only

5 % 2T Q@D

—2m only

3 % —2M ST

All options are correct

. ) RBTLVT DOADLID

Question Number : 42 Question Id : 813561202 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Roots of the equation x*> — 3x? + 3x — 9 = 0 are

x*—3x“+3x—9=0 AB0E), Soreren

Options:

1 L3 A -EE. 13285
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, g B34y, <A~Tof

- - PN
3__&3_.2 W, 2— @

4 % 1, 1+ 20, 1+ 2w?

Question Number : 43 Question Id : 813561203 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

o T 1 | —
=& m i ) Y -
It = (tan (24) + cot (24)) =va*+a++Va.thena

1 T T ; —
S5 (tan (—) + cot (;)) =vVa‘+a+Va eond, a =

24

Options:

Question Number : 44 Question Id : 813561204 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If 4 3 L + il 4 then 3x% + 6
P TR T < —n < oo e et 1811 5 X X =
5 ' 5x10 5x10x15

4 1x3 + 1x3x%5 £
5 5x10 ox10x15

Options:

1. % 1

Question Number : 45 Question Id : 813561205 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

o
1 — sin—
2

E}; (cos L) (msi — sini) i
2 4 4
Options:
3

| x V2
-1

2. % V2
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Question Number : 46 Question Id : 813561206 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The distance of the plane 2x — y — 2z — 9 = 0 from the origin 1s units

20D Aok 2x —y — 2z — 9 = 0 $erdsS (o Groan VLAY
Options:

1.3

2. % V3

Question Number : 47 Question Id : 813561207 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The length of the tangent drawn from any point on the circle x* + y + 2gx + 2fy + ¢, = 0
to the circle x* + y* + 2gx + 2fy + ¢, = 0 is

x2 4+ y2 4 20x +2fy 4+ ¢; = 0 3330 DA DB Docdod) VoD x2 4 y2 4 20x + 2fy +
2 = 0 3,80 B3 A2 216,50 T dods?

Options:
1.¢
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Question Number : 48 Question Id : 813561208 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If 3x + y + k = 01s a tangent to the circle x% + y? = 10. then k =

v2+y% =10 55708 3x +y +k = 0 w8 246,02 wowd, k =

Options:

% X7

Question Number : 49 Question Id : 813561209 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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sinmlx]  «x
For f(x) = . where [x] denotes the greatest mteger function. the domain and
f) 1+[x] T 243x 1] & -

range in R are respectively

sinmlx] «x

flx) = wE ¥ R (QSZIG. ] ﬁba’é:qyg Fanajs ‘Qém‘irbl m@ua). f 200008
Sa0AMT AT doIW 3“533
Options:
;. —2 1
R-{-17} & R-{]}

1, ®
R— {--1,f—‘3} & [-1,1]
2. % .

. R-[10) & R—{—;-}

, « R=[-10) & [-11]

Question Number : 50 Question Id : 813561210 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The equations of tangents to the circle x? + y? = 10 from the point (4, -2) are

(4,-2) Do) Dod 1%+ y? = 10 35708 A 16, S0 L6 BVdE.

Options:
x+y=2,3xF2y =16

1. ®
> #2X+y=18, 3Ix—y=4

3 ¢ 3xt+ty=10, x =3y =10
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S x—-y=4,x+y=0

Question Number : 51 Question Id : 813561211 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If log(x +v) — 2xy = 0 then y'(0) =

log(x + y) — 2xy = 0 @00, y'(0) =

Options:

1 = 2y*+1
2 w2yt -1
3% 0

4% 2V°

Question Number : 52 Question Id : 813561212 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the mean of 100 observations 1s 50 and their standard deviation 1s 5. then the sum of
squares of all observations 1s

100 583030 S50 50, 208080 FrArHs HSwdIW 5 €D BOIVHL STV

A =

Options:

AP EAMCET 2020 _
e collegedunia:

India’s largest Student Review Platform

el



. % 50,000

, % 2,50,000

3 @ 252,500

4 % 255,000
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Question Number : 53 Question Id : 813561213 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Length of the perpendicular from the origin to the plane passing through three non collinear
points with position vectors @, b and ¢ is

T,h 208050 T 20 HBDOHANLD 5 AP Do g‘a;ﬁééw. & DoV ok

T') B0209% Suredodd) Aok (Y Vot BrEAD =

Options:

2[a b €]
axb +bxc +cxa|
3.
@5 &
_ ||@xb’ +b xc + ¢ xa
4, %
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Question Number : 54 Question Id : 813561214 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

cos3(x) e
j sin®(x) + sin(x) =

Options:

% log [sin(x)| + sin(x) + ¢

5 % log|sin(x)| + cos(x) + ¢

3 log |cos(x)| — sin(x) + ¢

4. log |sin(x)| — sin(x) + ¢

Question Number : 55 Question Id : 813561215 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What is the reminder of 2x3 — 5x? + 7 when divided with (x — 2)?

2x° —5x% + 7 20 (x — 2) B 2B

Options:
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Question Number : 56 Question Id : 813561216 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If the latus rectum of a hyperbola through one focus subtends an angle 60° at the other focus,

then its eccentricity 1s

28 EVTHDVOIERS (L) 28 T Lot LS T 6 60° E'cas B, T &) 088=

Options:

Question Number : 57 Question Id : 813561217 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Letters of the word ‘GOVIND’ are permuted and arranged as in a dictionary then the number
of words that appear after the word ‘GOVIND' 15

‘GOVIND' &8 6065°Q 09565000 ) DB 058y &8 DMV Aot
3038”0208y ‘GOVIND' D6 S6TS €0l 63000 Do)

Options:
, % 519
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3. 506

4. % 511

Question Number : 58 Question Id : 813561218 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the two circles (x — 1) + (y —3)? =r? and x? 4 y? — 8x + 2y + 8 = 0 intersect in
two difterent points. then what can we conclude about r?

(x=1)%+ (y—3)* = r? 0o x® + y> —8x + 2y + 8 = 0 Jy5ren DD
Do’ Pocotirsodd, )Y 1 HB0L) e :)g‘ambrﬁuaﬁw?

Options:

4\/;2{:?"::8

Question Number : 59 Question Id : 813561219 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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/4
[ x3 sin*(x) dx =
~m/4
Options:

1.¢ 0

4 ® 2T

Question Number : 60 Question Id : 813561220 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Product of all real values of b’ such that there 1s no solution to the system of equations 2x +
5y+2z2=19, -4x+by+6z=-42, -3y —bz=811s

20+ 5y +2=19. —4x+ by + 62 = —42, -3y — bz = 81 PEGRAN 0SS,
‘b a0, @:)l D DLV VLAY =
e (A}

Options:
1. % —30

2, % —48
—24

3. ¢

4, % —18
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Question Number : 61 Question Id : 813561221 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A box contains 4 defective and 6 good machines. Two machines are selected at random without
replacement. Find the probability that both the machines are good.

8 206" 4 34T o 2Babo 6 Aot adodAnen 63D, & B0E Tot) EHBSVVRY

SEHIT (SR chogan dBh 20 BaD( edorr) &R, € G0t 050FH0e ot e

ROET(S SR

Options:

Question Number : 62 Question Id : 813561222 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The line x + y = 1 meets the lines represented by the equation y* — 6xy* + 11x%y — 613 =
0 at the points P, Q, R. If 0 is the origin then (OP)* + (0Q)* + (OR)* =

x+y =182y -6xy? + 11aly — 6x° = 0 300 P, Q, R Dotddves” docined. 0
200Dt AR (0P)* + (0Q)* + (0R)* =
Options:

85
1. % 72

121

2.¥ 72

217
4. 8 72

Question Number : 63 Question Id : 813561223 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If origin 1s the centroid of the triangle PQR with vertices P(2a, 2,6). Q(—4,3b,—10) and
R(8,14,2c). then the values of a, b, c respectively are

P(2a,2,6), Q(—4,3b,~10) 2080 R(8,14, 2c) Dot PQR Gzoadn gren. &
S202:0 So@irio SIrODeEIY) AN, @, b, ¢ DLVDRY HEAM

Options:
16
oy Tl
1. # 3
2: "
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2. —= .-2
E
16
sl St g
3. ¢ 3
16
—2. T — &
4. % 3
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Question Number : 64 Question Id : 813561224 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following pair of straight lines intersect at right angles?

& 308 6&3‘&'&»:‘?&&:6" AT ©022827°0300() 50 9PHA?

Options:

1

5> % (x +y)? =x(yv+3x)

3

5 u =i

% Y X -
P 2x° =y(x+ 2y)

e 2¥(x+y)=xy

Question Number : 65 Question Id : 813561225 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If the vectors ai + j + k.i+ bj + kand i + j+ c k are coplanar. where

1 1 1

(a,b,c # 1) then the value of T + - + —

=

a,beczlo®ai+j+k i+bj+ koo i+ +ckendsdaros,

1 1 1
+—+—=
- 1=h -t

Options:

1.3@2

Question Number : 66 Question Id : 813561226 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
2

o zapm . [d?y ay\® .
The product of the degree and order of the differential equation (m) - (E) =ylis

d’y : dy\ 3
(2] = (2) =5 eses ahison obarnsn sbow seidw ogan _

Options:
3

1. %

2.V
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Question Number : 67 Question Id : 813561227 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let u, v and w be three vectors in R®. Then any vector Z € R® can be written as z = au +
bv + cw for some scalars @, b and ¢ 1f and only 1f

R® &° 1, v 200050 w o0 2830 Z € R® DB 164, DB eddew a,b,c 0D z = au +

bv + cw 0T (08) 8IS, DT[N VAN O

Options:
Each pair of u, v and w are not parallel
u, v, w © e D Bocd 20 DAFLD DAToHGALD 5°I)

Each of u, v and w can be written as a linear combination of the other two

5 x WU,W oS DS 258 HDD Toch HIV Gz Vodir (o,

All have different magnitude and directions
L O9) PO%0 0 DDI) HrdIVL B0k DY) B Gorrd

None of the options are correct

4 o @ BT DBIDIG 57

Question Number : 68 Question Id : 813561228 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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If the roots of the equation ax® + ax + ¢ = 0 are in the ratio p : . then JE T ‘F =
q p

ax? + ax 4 ¢ = 0 PG QS STV P ¢ g :)‘&J,D@@ Gol, \E T \E =

Options:
a2
1. ®
a
2c
2. %
a
C
3.
az
2¢
4, %

Question Number : 69 Question Id : 813561229 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The polar of (1,—2) with respect to x? + y* — 10x — 10y + 25 = 0 is

v2 4+ v% = 10x — 10y + 25 = 0 50 ﬁa?g (1,-2) Docday) CIS), G50 =

Options:

1 % X +7y+30=0

5 v 4x+7y—30=0
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4 8 Xx+ty=0

Question Number : 70 Question Id : 813561230 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The lines represented by ax® + 2hxy + by? = 0 are perpendicular to each other, if

ax? + 2hxy + by? = 0 HE6eA0 Arod B VoM SokErdE ADAAW

Options:

1 % h*=a+b
2v,a+b=0
g h=ab

4 % h=0

Question Number : 71 Question Id : 813561231 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

1
If sec@ = m.tan @ = n. then —

m m+n

m+n+ - lz

1 1
= = ~im+n s
secd = m. tan @ = n OIS, ml? i +m+nl_
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Options:

Question Number : 72 Question Id : 813561232 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For M = [? :ﬂ and for any n € N the matrix M nH_M" =

newmao:mMzﬁ '_'ﬂosam"“—M”_
Options:

2 4

1 -2
-

1 =2
2.V

2 —4

I 2
3w

2 4

1 2
4
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Question Number : 73 Question Id : 813561233 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If PO+ 0Q = QO + OR then

PO + 00 = Q0 + OR ©on®

Options:
Q is the midpoint of PR
PR 206§ Dot ¢

LY

Q divides PRin 2 : 1

, % PR Q Dotd) 21 1 DiqyB&” D220

Q divides PRin1:2

3 % PR Q Do 1:2 Ji3BS° Dzseiwosd

Q divides PR in —1 : 2

4 % PR Q oo —1: 2 I3 BS° Dz200d

Question Number : 74 Question Id : 813561234 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The content of the 3 boxes are as follows. If One box 1s chosen at random and three balls are drawn
from 1t and they are all of different colours. find the probability that they come from box 2?

» Box 1: contains 1 black. 2 white. 3 red balls. and

» Box 2: contains | black. 1 whate. 2 red balls. and

» Box 3: has 5 black. 4 white. 1 red balls.

S0 HPOS" Lodoen $ob KT ) D. CAPEIEN AT w8 DHR JothE D & Avod:
S0rE) Lo BRNNE ) D) Gorben (0 eodien BoDa). BN, B D 2 o)

BB GRS (10 VoSS od?

r 080 1: 28 YY), Botd) SR, AP JEY) Wodow)
r D0 2: 08 SR, w8 B, G0t JAY) Wodoww
r 98 3: D SR, T S, S WY Wodoew
Options:
9

1, % 29

15

> @28

Question Number : 75 Question Id : 813561235 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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The coefficient of x*° in the expansion of (1 4+ )% 4+ x(1 4 x)** + x%(14 1) +

AP EAMCET 2020

++++++

(14 2)M00 £ x(14+ )% + (14 2)" 4 o 4 11000 e 10 roeagisn

Options:

1000

999
2. %

1OOOC
3 % 51

1001
4.9 “s0

Question Number : 76 Question Id : 813561236 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let P(n):2+2%2 4234+ 42" = 271 5 € N. Then

nENSDPM):2+2%+2%+ 42" = 2" p9a0®.

Options:

P(m) is true = P(m + 1) is true

1.¢

P(n)istrue foralln EN
g P(n) dadv VneEN

2

P(n)1s true tor all n = 20
3 % P(n)Qasn Vn =20

P(m) da2d = P(m + 1) dadoid
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P(n)is true foralln < 10
4. % P(n) Qedn vVn <10

Question Number : 77 Question Id : 813561237 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What 1s the modulus of the complex number (1 + 2i)(—2 +1i)?

(14 20)(=2 + i) %088 Dogdf IS, ATDAW
Options:

—

. % V3

2,918

Question Number : 78 Question Id : 813561238 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A light ray emerging from a point source at A(2, 3) 1s reflected on the y-axis at pomnt ‘B” and
passes through point C(5, 10). then the co-ordinates of ‘B’ are

A(2,3) Do) ol waDeBBH w8 630 Y-850 DA ‘B’ Dotd) 56 HBIGHAW
@08, C(5,10) Doty ot J'dod. 0w, ‘B’ Doty AErIs)
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(5,0)

3. & (012)

(2,0)

Question Number : 79 Question Id : 813561239 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The sides of an equilateral triangle are increasing at the rate of 2 em. s ™. How fast does its
area increase when 1ts side 1s 10 cm?

28 LTI AZOBY) F0RAN JTED) VSV 2 cm zS‘Q)Dé DBV, o2 10 cm
900, BV DTV[AD 207 0L aod?

Options:

102 -
1_@10”'3 cme.s

2 % 5v3 cm?.s7 1!

2 o=

3 & V3 cm“.s

Question Number : 80 Question Id : 813561240 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

2

. —— . _ay .
The integrating factor of x — +3y = x° 1s

dx

d
x = +3y = 12 DAECETFIS DATEOD (LSS

dx

Options:

Section Number :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :
Display Number Panel :
Group All Questions :

Mark As Answered Required? :

Physics
2
Mandatory
40
40
40
Yes
Yes

Yes

Question Number : 81 Question Id : 813561241 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

AP EAMCET 2020
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Orientation : Vertical

When a weight of 10 kg 15 suspended from a copper wire of length 3 m and diameter 0.4 mm,
its length increases by 2.4 cm. If the diameter of the wire is doubled, then the extension 1 its
length will be

T 3m, o 0.4 mm o a8 TH Sried 10 kg e Jerebd, o TE
24 cm DBARG. &8 S T(Q) 3o BANONS, & TekPE" ey BeRYSW.

Options:

» 9.6 cm

1.%

> = 48cm
3 % 1L.2cem

4 0.6 cm

Question Number : 82 Question Id : 813561242 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two vessels A and B contam oxygen. The volume of B s twice that of A. the pressure of B 1s

thrice that of A and the temperature of B s half of that of A. Then find the ratio of number of
molecules of oxygen i vessels A and B.

Boct) Jrgen A 208ak B esd\ad 69 &) a. ¢ B wdnBarman A & 0ok, B &
DGR A SETIS Qurcd 0t 2Bk B &8 A &° R wond, A Bak B od"
8\ BEVHY G BVDoC..

Options:
% 1:3
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Question Number : 83 Question Id : 813561243 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A body of mass 10 kg has constant velocity of 10 m.s™*. A constant force is applied for a

1

duration of 4 s on the object and gives it a speed of 2 m.s™" in opposite direction. Then find

acceleration produced in 1t?

10 kg @703 5DAD 28 R0 10 m.s™ So $HAIN) 8. 45 o TP & SOY ¢S
28 %c LEr) SUUEND BHTY, b SIGY 835" 2m.s! oS SEOFAD. WO,

& 5008 &8 HWY dod AEET) Todod?

Options:

1% 3 m.s 2

5 @ =3 WS

E
3 % 0.3 m.s

- =
4 % 0.3 m.s

Question Number : 84 Question Id : 813561244 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

A ray of light travels from a medium of refractive index 2 to another medium of refractive index /2.
Total internal reflection takes place when the angle of incidence 1s

26 508 8600 2 H559% MRSAN (L OIrHga0 Mo V2 382599 s fo 8 airdge
608 5825950 Bodady. O D% Erw 56 & 5708 S50 VOYPT 0BG DB Borkoy?

Options:
1. % 30°

> 45°

L x 60°

. 80°

Question Number : 85 Question Id : 813561245 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The ratio of displacement to distance for a moving particle 1s

SOB0ES (0 SED0 W), FdFPoFW LB EIT°Y i

Options:
Always less than one

: 0 DVDET 258808 BEY) S

Always greater than one
;g DVDET 2580808 I8 D
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Always one.

3w DYRDET 288

One or less than one.

o 20,88 O 2088508 BE0). S

Question Number : 86 Question Id : 813561246 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In a p-n-p transistor working as a common-base amplifier, when the current gain is 0.96 and
emitter current 1s 7.2 mA. the base current 1s

8 p-n-p EPARE &0)¢ GG 6Sorr DB AYS DT 3,8 .96 S0daky
G650 S DTN 7.2mA o8 BErd AN DT JW0S

Options:

. % 0.4 mA

5 % 0.2 mA

3 0.29 mA

4 % 035 mA

Question Number : 87 Question Id : 813561247 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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When a body moves 1n a circular path. no work 1s done by the force, since

5)T°56 1608’ GENHEND) w8 HVPP LYo 303 Aot HI AT, DoA™

Options:
There 1s no net force
| % S0 wwo T

There 1s no displacement

FSToBo T

2, % 9

Force 1s always away from the centre

4 SomrRS GPGolT 200 DAWAAOD

Force and displacement are perpendicular to each other.

. 220 S0BO3D gago?w 2083°DE €S woeren

Question Number : 88 Question Id : 813561248 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The triple point of water is

D& S Dot

Options:

. u PRN6G

, » 273.16K

. x 273.16°F
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. 015K

Question Number : 89 Question Id : 813561249 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In a circus. a stuntman rides a motor bike 1 a vertical circular track of radius * r *. Find the
minimum speed he must maintain at highest point of track?

DGR &6 28 38 3% Arerdy IS 1’ a-;gavg;m R 28 LI HTs0 Argane’
(£82 vow duY’ &) Sdot)") BMAT) . S8 Ardin awE), 688 oo
56 ArEr6d PSLd ANE) S DA LY.

Options:

2gr

1. %

5 .
g, % H

Question Number : 90 Question Id : 813561250 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Given figure shows the north and south poles of a permanent magnet i which an ‘n’ turn coil of
cross-sectional area ‘A’ 1s resting, such that, when a current ‘I’ 1s passed through the coil, the
plane of the coil makes an angle ‘6" with respect to direction of magnetic field ‘B". If the plane of
magnetic field and the coil are horizontal and vertical respectively, the torque on the coil will be

GO0GER T (0 w8 THE VaHF) 0Tl Hhod’ ErLLIT Gotrd. BIS" A el d
2700 $O0D N’ ot L B &ow, AL T VS R0 Yo B, &8 it dwo
00 o Edo ‘B’ 338 6’ Stao BR008. LA 08 Fve L0 oBereD SR
DArodd BAD Voot &) grand, & éﬁr:oegj.g DS €76, Jod?

Options:
1 » NMAB cos @

> % nIABsiné

, o NIAB

None of the above since the magnetic field is radial

4% E.‘)Q)Ja"boé £o 5‘53‘2{: DoLIG otV 333 Da) 57

Question Number : 91 Question Id : 813561251 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A/ (joules)

The varation of PE of a harmonic oscillator 15 as shown m 0.04

the figure. Then find the spring constant

od)S Eosdn ang) K02 36" Ardd b’ 0]

SrORGA. 003, B D)ol 07080 S8 067 < ; —

(0.0) ,
20 mm Y (mm)

\/

Options:

, % 1X10% N.m™

ot
, » 150 N.m

5 % 0.667 X 10? N.m™

4 % 3x10° NNm™!

Question Number : 92 Question Id : 813561252 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Strength of gravitational force compared to strong nuclear force =

DEOTEEE w0 VR Sods wered J'HyHS =

Options:

-39
L. 10

~13
Zi % "
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10-2
3, % 10

Question Number : 93 Question Id : 813561253 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A cyclist comes to a skidding stop in 10 m. During this process, the force on the cycle due to the
road 1s 200 N and 1s directly opposite to the motion. How much work does the road do on the cycle?
w8 R3S §%) 2000 oer(VE) 10 m o8 . & HaHS” pdew AT AFBIP D
6% 200 N 0erdy 0irfocad. o, & pdep 60 Jod 9 atn?

Options:
1 % 20007

5« —20007]

Question Number : 94 Question Id : 813561254 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A fully loaded Boeing air craft has a mass of 3.3 X 10° kg. Its total wing area is 500 m?. It
18 1n level flight with a speed of 960 kmph . Estimate the pressure difference between the
lower and upper surfaces of the wings.

DOIrALLE QPO odd 28 &'o0of DAFHAN @303 3.3 X 10° kg. & 80
Agdw dTRR0 500 m?. e 960 kmph 568 28 Fand’ d&dad) 8. 36,0 Sod,

D GOOBVRN WG| DED HEIID) BotsT Sod..

Options:
; % 45%10° N.m™

, % 55X 10° N.m™2

3 -2
%% 6.5 X 10° N.m

4 % 7-5X10° N.m™?

Question Number : 95 Question Id : 813561255 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

One end of a string of length ‘" 1s connected to a particle of mass ‘m’ and the other to a small peg
on a smooth horizontal table. If the particle moves in a circle with speed ‘v’ and ‘T" 1s the tension
i the string. then net force on the particle (directed towards the centre) 1s

1 TED) 80 w8 T w6 D36 ‘m’ G302 (10 28 SR S8 Toksd WG £ VAreds
0 D (10 D) DO SEPG. & SH ‘v SAE P JTTET SMER) DG Tl
SR8 ‘T oo, 38 S0 D s P IS Lo BveC.
Options:

1. T

AP EAMCET 2020 )
collegedunia:s
India’s largest Student Review Platform

el



AP EAMCET 2020

T+muv?

T—mv?2

4.% 1

Question Number : 96 Question Id : 813561256 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A radioactive sample has an activity A 1n air, If the sample 1s kept inside water then 1ts
activity A’

S’ 28 BAArTd)$ ddrar $airdus 4 $DAaR 8. ¢ dArT VS’ Gt T
Sasrded A’

Options:
becomes less than A
A Sotl GSJZ’D

1. ®

becomes more than A
. A SofS ey S

1s same as 4
5 v A S DIATDID

will be less than or equal to A depending on the density of water
1. Sob3 =EVRY SFo° DATDAD I DY FoBeh 2 TGN
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Question Number : 97 Question Id : 813561257 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Dimensions of & are

g9 OINE), DOBVRW

Options:

M AL A
g

, u MOESTER

., o BEYATRA

~1y—a 2
2 u BCHCFTR

Question Number : 98 Question Id : 813561258 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If the angles of dip at two places are 30° and 45° respectively. then the ratio of horizontal
components of earth's magnetic field at the two places will be

Goch) E3A0VE" wdTFe Etren S0 30°. 45° Lad & HEIAS” Fr WD) 0d
20 WY £82 DATdl BoTY D

Options:

v V32

p x 1172
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Question Number : 99 Question Id : 813561259 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Lenz’s law 1s a consequence of the law of conservation of

Fod DDA DB B0 bgaésam:)a DO(OI DA

Options:
Energy

o 98

Charge

5 % VDI

Linear momentary
. ROY ge38aw

Electric flux

x R’Jc&:}gé 9 TIPS AN

Question Number : 100 Question Id : 813561260 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Two tuning forks X and Y are of frequencies 280 Hz and 284 Hz. A third tuning fork Z 15 of
unknown frequency. when X and Z are sounded together certain beats are heard per second. When

Y and Z are sounded together beat frequency 1s found to be thrice as great. The frequency of Z 15

G0t ByBcG0rmen X andain Y draepargen 280 Hz oboin 284 Hz. 0resd 3y8G0¢an Z
TR0 Bk, FyBcsormen X ddaw Z e §J) dipyoaTrodgron. fdcere Y
Qo Z en raéb dyossTen X, Z en @aa DQYOETVLD SR Be 0@ FyBGocaD Z
g =

Options:

1 % 282 Hz

, % 286 Hz
3 % 280 Hz

4 o 278 Hz

Question Number : 101 Question Id : 813561261 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Three capacitors of capacitances C; = 2 uF, C, = 3 uF and C; = 5 pF are connected in
series. A potential difference of 155 V is applied across the combination. Choose the right
answer from below options

Q0P Sartx® Cy = 2 UF, C; = 3 uF, €3 = 5 pF 363e5” 00 &7) 0. & Vo3
155 V & TFBQ00e S 090080, 08 a7 28 0008 @aren

Options:
Least potential difference is across C; C; 3ardeb ﬁ“e}gomé A E5Ha0
Equivalent capacitance of combination 15 (%) UE  Somrdan 00 =Py ) (g) UF.
» The voltage across C; 15 75V C, 8armtb 75V
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Least potential difference 15 across C, C, 3rntrb ﬁ"ej,g}omcj A ED0aD
Equivalent capacitance of combination is (g) UF o rms sy @00y aJH8 (E) uF.
- 51
The voltage across C; 15 50 V C, 3rneb 50V
2. %
Least potential difference 1s across Ci C; 3arntd TEane B SN
Equivalent capacitance of combination is (%) B st a0 3D (ﬂ) UF.
- 31
2 % The voltage across C315 30V C; 350630V
Least potential difference 1s across C; C, 3arob TS S SN0
Equivalent capacitance of combination 1s (%) UF  Homrsan 00 a5 (EE) uF.
31
The voltage across C; 1550V C, 356 50V
4, %

Question Number : 102 Question Id : 813561262 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In a sertes LCR circut. the inductive reactance 1s twice the resistance and the capacitive reactance
is 1/3™ of the inductive reactance. The power factor of the circuit is

28 LCR 36d duoand” 9oss 986680, AerAS Both 5t Bk £0d( 3860
2083 HODGANG 1/3 5 S080 T &) 8. €00, &8 VaHn g s dsin =

Options:
1, % 1.5

5 % 1.15

3« 0.6
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4% D5

Question Number : 103 Question Id : 813561263 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The deflection produced in a tangent galvanometer whose coil has a resistance of 9 Q 1s 30°,
The potential difference across the coil 1s 4.5 V. If the number of turns i the coil 1s 10. the
radius of the col is (given By =3.14X107°T)

EPogol] MerT DOGS” & €08 TGN 9 Q DI 30°. & oty TOJoDE S
4.5V Sricod) o2 10 ea0d, b .3‘521‘2&» = [6grodo By =3.14%X 107°T ]

Options:

_— 2V3 %X 1072 m

, »10V3x 1072 m

3 % 6 X107% m

4 % 35xXx107% m

Question Number : 104 Question Id : 813561264 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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An ideal Carnot’s engine with an efficiency of 30% operates between a source and a sink. If the
temperature of the source s 500 K. that of the sink 1s

w8 80, 50 @0z e—.gmm 208050 SIS 20655 30% GBS OABOWED) B,
arsohdw 68 500 K eand, 38v-i0in e dvded.

Options:
1 % 27 %€

5 u BPEE
5 o P70

, % 107°C

Question Number : 105 Question Id : 813561265 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A
The diagram shows stress vs strain curve for the materials —_—
A and B. From the curves we can mnfer that adwwo| A
B0t DErgren A $)Bat Bew 93 wwisw D0 I B
T2 & BrYR. 9570 Aot 3DoENHEG Daeh? >
| Strain
35;!3

Options:
A 1s brittle but B 1s ductile

, x A DT R, B Fde fod

2.%
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A 1s ductile but B i1s brittle
A OGO 0, B D008

Both A and B are ductile

AP EAMCET 2020

A 8030 B e Bodr G0 s

- T

Both A and B are brittle
4% A 3508030 B 20 Gotd %00

Question Number : 106 Question Id : 813561266 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A ball 1s projected upwards from a height h above the surface of the earth with velocity v.
The time at which the ball strikes the ground 1s

e P 0d h A0 3G w8 0o I VYT Docs DTG, 66 Zr BEOLL

DD 500 wodd?

Options:

L [1 + zih]
g v

ill—\/1+ﬂ
2. % & ?

i[1+J1 + £
24 v
3.¥

4, %

|
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£|1 + \/1*2 —I-z—f
g v

Question Number : 107 Question Id : 813561267 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Aforce F = (5? 44 ) N acts on a body and produces a displacement § = (6? ~57 43 'ft) m.

The work done by the force 1s

w8 SR D6 F = (51 +4] ) N wosw 5809y@ § = (61 -5 +3k)m Fdgossw
$OAdLONE, & LK BN DI

Options:
1. ¢ 101J

> % 201

3 % 3017

4 % 407

Question Number : 108 Question Id : 813561268 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

First law of thermodynamics 1s represented by

EQAGS T ADEE DADLDW HS"GHW

Options:
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 »dQ = dU + dw

dU dw + PdV

.« AW = dQ + dU

, » AU = dQ + PdV

Question Number : 109 Question Id : 813561269 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A disc of moment of mertia I, is rotating with an angular velocity wy. Another disc of
moment of mertia I, which 1s not rotating. 1s gently put on the furst disc. The angular
speed of the system will be

REAQ PRSI [ 0 28 DOS W, E'r300 A0S’ ZAoessdw SohucR) . A
@PA0EI0 [, $9H. DoAY HFE DU GO HVED L) BT Botr .
SR, & S Srdap o =

Options:

(h+&)
Wy
Iy
I
Wy
L+

1 ™

2.V
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=
W
11-12 *

Question Number : 110 Question Id : 813561270 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Light from a source travels out with a velocity ‘c’. If the source moves away from the
observer with a velocity ‘v’ then the relative velocity of light w.r.t. observer 1s

28 2AEAN ol 5708 ‘e’ HANS LOHLL DLSEBR. &8 23S DBFVD Aok
GrEST V" HA0E FdoR)d, €8 HBIVA e 08 FDL S Jod?

Options:

o

2 % c+7v

4 % Ve2 + v2

Question Number : 111 Question Id : 813561271 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following sets of concurrent forces may be in equilibrium?

08 TS DTRAS” GokiL VNS VUL ID?

Options:
% FE=3N.F5=5N, F5=10N
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9N

Il

5% F]_:?)N, FZZSN, F3

;o =3N, F=5N, F;=6N

F,=3N, F,=5N, i, =15N

4, ®

Question Number : 112 Question Id : 813561272 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Radiations of intensity 0.5 W.m ™ are striking a metal plate, the pressure on the plate is

0.5 W.m™ 838¢" D3oeren w8 &P HSH LDIPIAN ONIYW, &8 DV
DERB0 Jodh?

Options:
| » 0166 X 107° N.m™>

, % 0332x107% N.m™

3 % 0.111 X 1078 N.m™?

4, % 0.083X107° N.m™

Question Number : 113 Question Id : 813561273 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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What 15 the phase difference between two particles 25 m apart in a wave represented by equation
y = 0.03 sin(m [2t - 0.01 x]) travelling in a medium?

28 0dgA0S" gairﬁ‘_‘_mél S60AADR) AP DNEEHAY y = 0.03 sin(m [2t - 0.01 x]).
S0’ 25 m ¢rdot) Gol Gotl) &6 S0 STEEAD BVDE.

Options:
1. % /8

2. v /4

Question Number : 114 Question Id : 813561274 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A weightless bag 1s filled with 5 kg of water and 1s weighed in water using a spring balance.

The reading of spring balance 1s

2,8 8Dand ol 5 kg NS Jod, NBS" AN D)of GRS V. B\ ©

)oh B Bcohh BwdoC..

Options:

1, % Okg

, u 29kg

_— 1.25 kg
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4. ¢

Question Number : 115 Question Id : 813561275 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The ratio of specific heats at constant pressure and at constant volume 1s ‘y’. To find out
the degree of freedom. the expression is

fgdf:}c.‘.éo S0Bosn) HOROTT I¢ DT TV A ‘Y. a0, ABod HOWS

SRS S 305D BEdn0
Options:
2

RANE

f - » y+1
2. ¥ 2

P 2
3% YH

i 1
au’ T4

Question Number : 116 Question Id : 813561276 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Find the centripetal force acting on a coin weighing 0.1 kg. placed 0.1 m from the centre on
a gramophone disc rotating at 600 rpm.

600 rpm & (e 600 ) ShHHSD) TR Hug Sogin od
0.1 m Gr630S” Gotdead 0.1 kg eded) (o THAW 2 DB 9DZoBWVAN dodh?

Options:

, x 40m* N

Question Number : 117 Question Id : 813561277 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Using the data given below. find the height at which a communication satellite can reside.

$08 BZoT) EIAIT Ao, VAPETG GO DotsBoi PO BLeE.

(6G=667x10"" N.m*.kg™>. M =598x 10** kg. R = 6.4 x 10°m)

Options:
1 35850 km

5 3585 km

3 x 3585km
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4 % 35.85km

Question Number : 118 Question Id : 813561278 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Find the stress developed mside a tooth cavity filled with copper when hot tea at temperature of
57 °C is drunk. You can take body (tooth) temperature to be 37 °Cand @ = 1.7 X 107 °C™*,
Bulk modulus for copper B = 140 X 10° N.m ™%,
57 °C ¢ 3¢ & GARYE Th & Dodkd dogrend) D 6w eD5)0 L0 HO LW
SR, 366 (DY) &tid 37°C ohd @ = 1.7 X 107 °C™ 080k 50 Aoasisn
B =140 X 10’ N.m™
Options:

1 »14%10° N.m™

, x 1.9%x108 N.m™2

3 % 2.0x10° N.m™

4 % 34X 107 N.m™2

Question Number : 119 Question Id : 813561279 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The speed of a uniform solid sphere after rolling down from rest without shipping along a
fixed inclined plane of vertical height ‘h" 1s

A DB ‘h (0 AN T BV Dot D%vaga ot ZESE" oS Fhdod)
2508 10D HYAL 3¢ =
Options:

10 gh

6 gh
X S
5
4 gh
3
4, ®

Question Number : 120 Question Id : 813561280 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

When a rectangular coil is rotated in a uniform magnetic field about an axis passing through
its centre and perpendicular to the field. the emf induced in the coil varies

D508 0D 08 TSNS’ 2,8 GFSBIBITC BIBLR T S ot J'd.
£E°08 VonAIS’ Golt w8 VLN DO GNP, & LS’ HBS AT VSO
SER.

Options:
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linearly

| % ODosdoorT

exponentially

DTS DG’
2. -

simusoidally

_ wébéo‘bor?
3.

laterally

| &aBmmw
4% @

Chemistry
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required?: Yes

Question Number : 121 Question Id : 813561281 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following pairs of solutions 1s expected to be 1sotonic at same temperature?

S0 T 2obwd w3 egge Sl DYE'S GramreD SIS 0I5 A0D) 2ob IB?

Options:
0.1 M Ureaand 0.1 M Nac(Cl
1 % 0.1 M cordaioe H8asw 0.1 M NacCl

0.1 M Glucose and 0.2 M NaCl
, % 0.1M dr§8 080k 0.2 M NaCl

0.1M NaCland 0.1 M CH;COOH
3 % 0.1M NaCl &8030 0.1 M CH;CO0H

0.1M NaCland 0.1 M KNO;
4 o O-1M NaCl 30803 0.1 M KNOs

Question Number : 122 Question Id : 813561282 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When equal volumes of Ca*? and F~ solutions are mixed, in which of the solutions
precipitation will not occur? (K, of CaF; = 1.6 X )

QAT DB (o Ca™ 8ok F~ oirdd (0 Tromrod ab3dvoe Bobrr, &

S0 TS BIS° 0IFDAD V6\EA? (CaF, aws), Ky = 1.6 X 107°)
Options:

1%?10‘7-'?«1 tat™ 4+ 1M E

5 % 1073*M Ca*? + 103M F~
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5 u WM & o TOTEMLFT

s x 1072M Ca*™® + 107°M F~

Question Number : 123 Question Id : 813561283 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In which of the following molecule/ ion. all the bonds are not equal?

085" 08 DEBH0NR LT T D)/ 0TS DA ?
Options:

1. % X€F4,

2. % By

3. v G2l

'« SiF,

Question Number : 124 Question Id : 813561284 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following will have the highest pH?

308 25" S(®S pH (od DAB?

Options:

1.
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Saturated solution of NaOH
NaOH %odyd GrHeas

1M HCI solution

, » 1M HCl grdeawn

Human saliva

3 SR TUTRVEDD

Lemon juice

| :3;:»& SR
4, %

Question Number : 125 Question Id : 813561285 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following is used as flux in the extraction of iron from oxide ores?

B3 y6 TPV Aot BN Y, Bochr) @O58r TT .

Options:

. % Si0;

4 Cﬂ.CO3

3 x Ca0

4 % CaSi0;
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Question Number : 126 Question Id : 813561286 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What 1s A in the following reaction?

ol w5y e5° &) D0 A DDE?

CH-CI CH.Cl
i Ty — A +
Cl
Options:
CH.Cl
Cl
1. *
CH,Cl
Cl
2.
3. %

AP EAMCET 2020 )
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CH;

CHCl»

Question Number : 127 Question Id : 813561287 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following is an example for non-benzenoid aromatic compound?

$0B TS’ TI-ToBTONE I8 AreIS R30) FH3 8 ?

Options:

. g7

2.v
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CH;

Question Number : 128 Question Id : 813561288 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the exact orbital from the following for whichn =4 and [l = 1

n=4.1=1 60 PD\S000 BBNTSI Bidd T8 Aod. SRS oc

Options:
4s

1. %

2, % 3d

3. % 4d

av P
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Question Number : 129 Question Id : 813561289 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following complexes can named “Dichlorido -bis- (ethane- 1, 2 -diamine) -
platinum (IV) nitrate™

08T S" “ & §BE -D3- ($B9- 1,2 -2ANSD)- T80 (IV) DG " m ewdwds D6?

Options:
i [Pt Cl; (en);] (NO3);

5 % [Pt Cl, (en),] (NO3),

2 % [Pt Cl, (en),(NO3)]

4 x [Pt Cly (en);(NO,)]

Question Number : 130 Question Id : 813561290 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

SFg 1s a kinetically inert substance because

SFe B0 3OS Gyar: 26 DEGAD LIS S 60
) 0% 3§ &

Options:

Fluorine 1s highly electronegative
03 edjod awe IRTS) S8 SO Gocde) SO

1. 8

It 1s sterically protected
2P(DBODAVT O STIELC ot VD
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Greater difference in electro negativities of S and F
5 " S 0803w F o 200 3)@35;3%3&5«»306‘ DEY),D B0 G0 SV

Larger size of S atom

4% § DOQTEDQY GINE); DOQTLIDD DA T YR

Question Number : 131 Question Id : 813561291 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following reactions produce ethyl cyanide as a major product?

& 808706 Db B[R &GS VAL A DI GD) ST A6YEI0W ?

(CH410),0
(CH30),0 =
1) CH3CH,CH = NOH ——— ) G ==
ethanolic KCN — &a308 KCN
Y B i 2) CHyCH,Cl =,-
ethanolic AgCN D& AgCN
3) CHyCH,Cl = 3) CHyCHyCl =
CsHs S04 CeHsS0,C1
4) CHyCHCON(CHy), — = 4) CHyCHCON(CHy), — e
Options:
e
2. % 213
3.8 & 4
4012
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Question Number : 132 Question Id : 813561292 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The defect produced due fo the presence of extra cations at interstitial sites is called

88 2708 Eodr s’ 208) arPus’ 8BS SLatrw 68 S0 O 808w D6\EErd?

Options:
Metal excess detect

| o 008 e5°53° €570

Schottky defect

. arel) S°DAw
2. %

Metal deficiency defect

3 % O S DA

Frenkel defect
4 % 2085 S0

Question Number : 133 Question Id : 813561293 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Identify ‘X" in the following reaction

Sod tﬁd&éﬁ ‘X' Q Botdolt

(1) Oz
X > 2 <:>:O
(11) Zn-H-0

Options:

O
1. %
O
2. %
3. %
4.

Question Number : 134 Question Id : 813561294 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Suitable conditions to prepare hexachlorobenzene from benzene is /are

Bo2S Aol 75y §E BodD A oI DO BT DOV
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Options:
Cl, (Excess), Anhyd. AlCl;, dark, cold
Cl (06¢), o8 AlCl;, DES, S

1, %

Cl, (Excess), Anhyd. AICl;, A

~ Cl; (0088), e.m“g AlCl;, A
2. %

Cl, (Excess), Anhyd.ZnCl,, A

Cl, (088), 6 ZnCl,, A
3. % -

Cl, (Excess), UV, 500 K
CL, (08€), UV, 500 K
4.

Question Number : 135 Question Id : 813561295 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following outer octahedral complexes have same number of unpaired electrons?

S8BT DD EP| BRDVE odalew DA VoS wobd ATFTIN SN 63 D?

1) [MnCl]*
) [FeFg]*
) [CoFg]*
4) [Ni(NH3)e)*

L] -2

Options:

, %1 &2

AP EAMCET 2020

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



AP EAMCET 2020

L% 28&3

Question Number : 136 Question Id : 813561296 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In a plot of log (;?) vs log p . for the adsorption of a gas on solid, a straight line 1s obtained.
The slope of that straight line is

208 DEG0D 8 TARNY BBF TS VotioBod leg% vs logp © e DB 28
NO¥ 0™ I, &8 VEYOD T ooth?

Options:
1

P
2. % K

s N

Question Number : 137 Question Id : 813561297 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Hydrogen peroxide 1s

TERd DUE
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Options:
An oxidizing agent
28 385063

1. %

A reducing agent
5> % 8 L0863

Both an oxidizing and a reducing agent

L ©9)50ed SoBosw Lodsced

Neither oxidizing nor reducing agent

@ e38\5663 5°6 BN LaDESE ST

Question Number : 138 Question Id : 813561298 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Hydrolysis of proteins gives:

T 20 D0’ DB

Options:
f— Amino acids
- B-dS esden

y — Amino acids

, x " DS e3:95°e

O— Amino acids
2 & DS esdren
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a — Amino acids
@ QDS es8ren

Question Number : 139 Question Id : 813561299 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The order of acidic strength of following acids 1s

Sof B0 BB AINE) SH0BD

CO,H CO-H CO-H
CH>CH; OCH3 NO;
(1) (i1) (1i1)

Options:
e (i) > (i) > ()

5 % (11) = (111) = (1)
5 o (i) > (@) > (i)
4w @)> () > (D)

Question Number : 140 Question Id : 813561300 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

How many compounds can be formed when carbon combines with oxygen?

56\, 85 \ES & $93 A Hdy) ¥ VdyEdu?

Options:

1.v 4

Question Number : 141 Question Id : 813561301 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following represents structure of Sulphapyridine?

BHS Toe)e5” w3b6é5 Qo) €200 39058 67

Options:
V4
HoN SO.NH— €
NH>

1. %

HoN SO2NH \

N —

2. %

AP EAMCET 2020
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CH;
#
H>N SOXN
M
CHs
3. %
N
H>N SO,NH ~</ \
N N
4, %

Question Number : 142 Question Id : 813561302 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The density of oxygen gas at 5 atm and 127 °C will be

127 °C S08a30 5 atm 5 8812 o

Options:
2.80g/L

1™
, o 488g/L
, x 149g/L

4 x 5:60g/L

Question Number : 143 Question Id : 813561303 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following changes decrease the vapor pressure of water kept 1n a sealed vessel?

28 O B3 SBS° 0 A &R0y 2R S0 EEFBON A" B 0N Brided?

Options:
Decreasing the quantity of water

Q8 DBJET) ShHoDD DGR

1. %

Adding salt to water

, o V88 ey s8R

Decreasimg the volume of the vessel to one-half

L TS D0VVBITETD) DTS BRDDIYE

Keeping the temperature of water constant

8 e’ BBR0 DEJWT EoDIDE
4, % 3 @

Question Number : 144 Question Id : 813561304 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The types of hybrid orbitals of nitrogen in NO;, NO3 and NHJ respectively are

NOF, NO3, NHy o&° DE'BS cing), 3056 e8ersdy SR

Options:

_ X e
1 % SP, Sp°, sp

2 3
, % SP» SP", SP
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3 o 5P, sp, sp°

3

4 % SP% sp?, sp

Question Number : 145 Question Id : 813561305 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

On the basis of which physical property separation of different fractions in fractional
distillation technique takes place?

FES ©03S B PEHS', D TES B0 VGG JE(WD VTV DERYE?

Options:
Solubility
T Se3as0eh

1, %

Freezing point

20DBID Fdo
2. % -

Boiling point

| T BID FNo
3,V >

Melting point

BDBID Fdo
4, % -

Question Number : 146 Question Id : 813561306 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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The alloy which contains 95% aluminium and small amounts of copper, magnesium and

manganese 1s

$08506" 95% eeriaboe, §G Ivd" oh. ) b HBA AroND VR
$OACOD) b3S ) DBotsoc.

Options:
Magnalium

1 % w‘)‘aoi)o

Alummium bronze

5 % (D00 0P

Invar
3 % SN

Duralumm

™ c:avsu‘qua)ﬁ

Question Number : 147 Question Id : 813561307 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A compound X, of boron reacts with NH; on heating to give another compound ¥ which 1s
called morganic benzene. The compound X can be prepared by treating BF; with Lithum
aluminum hydride. The compounds X and ¥ are represented by the formulas.

X @3 650D 200 v NH; & 58] Tod 9gI8 Hozd eded ' e 050 #:0:
20\36. BF; % B0t eeododands ek & 6] 260 X & dosrd daby S, X

20800 ¥ o &d:évw VAN

Options:
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1 \{/BzHB, BSNEHG

, x B203, B3N3Hg

.  BFs, BsNsH,

Question Number : 148 Question Id : 813561308 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A beaker contaming a mixture of liquid A and liquid B. in equilibrium with each other. 1s
cooled very slowly. If point ‘D’ on the graph 1s where solidification of both liquids s
complete, how many different phases coexist along line ‘CD’ if freezing pomnt of liquid B and
liquid A are —25°C and —78°C respectively.

28 @S 258 ADERAS" 63) A, B @0 DD o DS Tor iy BT 50
BTG, &8 HEADE RotoBotdd Bardrddnd” D Dot 3¢ Both Grer Jrom

20 Dotrow. (30 B &80 ¢dsn A Gng), B TR0 HERMT ~25°C
$0Bas —78°C 90 CD 8 ot S9N ol DA e Ay ?

0 20 0 gigen
5o (ro.)
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4.v 4

Question Number : 149 Question Id : 813561309 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following substances has highest value of standard molar enthalpy of
formation at 298K?

298K 6 308 ::wng B8 OS(BS e WS VB Domdy Gotwod ?

Options:

> % N&C({'s}

3 % NaBr )
4. & Nals)

Question Number : 150 Question Id : 813561310 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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For the cell reaction 3Sn** +2Cr — 3Sn®* + 2Cr3*, EZ,;, is 0.89 V. Then AG® for the
reaction 1s

3Sn* +20r — 350 + 2013, 20000 gy = 0.89 V. 002y e6{ cOng), AG° =

Options:
1 —515.31 kJ/mol
5 —125.41 kJ/mol

. x —457.41 kJ/mol

4% —347.40 kJ/mol

Question Number : 151 Question Id : 813561311 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Fructose reduces tollens reagent due to

DEE, Dy TESY)) LaDEG0 BOVLL S°GE0

Options:
Primary alcoholic group
D00 o) SPen DI

Secondary alcoholic group

, % DSod By S DT

Enolization of fructose followed by conversation to aldehyde by base
" DEE SISO A0 SODO TS Wi’ iré m Hrdow
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Asymmetric carbon atoms
g OF YD TGS DOATEVH

Question Number : 152 Question Id : 813561312 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following statements 1s incorrect for manganate and permanganate ions?

A0S, DO AR JEES’ FoATAG" BB 5 PIBIAW NA?

Options:
Both 1ons are tetrahedral structure
, 00t 0irHEd Ba06) DO AT BED Sod

PR

In both the 1ons. pr — dm bonding 1s observed between oxygen and manganese

o) aSrHS AT p1r — dT 20BN BB, Aol HG o
2. %

Both 1ons are paramagnetic

o Bol&ir Ho° escma“bcé GO0 (0 oI

Permanganate 1s stronger oxidizing agent than manganate

, y STONRE ST HODTOAS w20 e385663

Question Number : 153 Question Id : 813561313 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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After balancing equation C,0~ + H* + Mn0; — €0, + Mn** 4+ H,0 . the coefficient
of CO, 1s

C204™ +H" + Mn0g — €0y +Mn®* + Hy0 S6{0 dovgo S9& S0d. €0, g,

(IS

Options:
1.% 4

Question Number : 154 Question Id : 813561314 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The number of protons, electrons and neutrons in a species are equal to 17,18 and 18
respectively. Which of the following will be the proper symbol of this species?

28 23S T, VTR 0B0I0 ATHEPD) HAJM 17,18 2oBoto 18. S0 '

RS DB WSS

Options:

35

I?Cl

1, %

35 &=
&
>
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36
17

"
Cl
4, % 17

Question Number : 155 Question Id : 813561315 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The solubility of A,X31s “y" M. Its solubility product 1s

A5 X3 géﬁoﬁ@ V' M 00, &°R gééa‘b@“ veé.}.fm

Options:
6}*"‘

1, %

4
5> % 641

o
3, % 30)

4 108y°

Question Number : 156 Question Id : 813561316 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For a thermodynamic system. which among the following is not a state function?

S0BT° Y, efgn@s:s'ga-’gé‘ 2O DIADAD 57 20 ?
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Enthalpy
o)nq'.'t" bb

Internal energy
- e900S 3S

Free energy

Ty IS

Work
4.9 O

AP EAMCET 2020

Question Number : 157 Question Id : 813561317 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Name the kind of silicate formed when two silicate units (Si0,)*" share one oxygen atom.

Bocty DBBE5 afrdlw (Si0,)* 28 esd\2d HEAFEHR DooETT O 650 VS D6yR?

Options:
Cham silicate
A N URSDEL

Cycle (Ring) silicate
, % Swab ($sab) HOSE

Pyro silicate

% P DB DO

AP EAMCET 2020
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Sheet silicate

¢ 2H0EeS

Question Number : 158 Question Id : 813561318 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

How many compounds given below are amphoteric oxides?
S0 Tredes” BCRRIDD0VRD TED A ?

ong, P,_l,Oﬁ, ASEOSJ AS4OG, szas, Sb406, szOg

Options:

1.9 2
2. % 3

3.% 4

Question Number : 159 Question Id : 813561319 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In NO; 1on, the number of bond pairs and lone pairs of electrons on nitrogen atom are

NO; ©00ir5” DTS DO Lot JOTS 200 HBOI 2008 VTS

2000 ‘Sau&‘)?g
Options:
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1. % 2,2

I |

3.% 1,3

4.v 4,0

Question Number : 160 Question Id : 813561320 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

C — Cl bond in chlorobenzene in comparison to € — CI bond i in methyl chloride 1s

6 §3& & o € — (1 & FO 3o 88 BodS &' o € — C1 wogsdw

Options:
Longer and weaker

;0 FEI0NVD, LIVTDONIE

Shorter and weaker

, ¢ TE6, wOrdANIG

Shorter and stronger
DS, OO
3.V ©

Longer and stronger

4% FEHOVI, LAV
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